
Supp Figure 1. Treatment with melatoninergic compounds does not 
improve histo-pathological profile of SARS-CoV-2 infection in K18-
hACE2 mice.
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Supp Figure 2. No correlation between lung viral RNA and most lung 
cytokines except IFN levels
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Supp Figure 3. Correlation of lung IFNa, IFNb, IFNl3, IL6, IL1b and 
CXCL2 with clinical score at DPI-6.5
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Supp Figure 4. Correlation of lung IFNa, IFNb, IL6, IL1b and CXCL2 with 
clinical score at DPI-7
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would reach the max limit of clinical score
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XY: Correlation clinical score DPI 7 vs IFNa adjust 3 IFN at 4.4
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